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Hiffsqgl. (res) (inl, in2)

pl = mul(int, inl)  diffsql(inl, in2)

p2 = mul (inZ, inZ2)
res = sub(pl, pZ)

diffsg2. (res) (inl, in2)

sum = add(inl, inZ)
diff = sub(inl, in2) > = <
res = mul (sum, diff)

check. (diff) (inl, in2)

resl = diffsgl(inl, inZ)
res2 = diffsgZ(inl, inZ)
diff = sub(resl, res2) ~

------------- /7 b lb@

diffsq1 check !
— O !

____________________

res=inl *inl—in2 *in2

diffsq2(inl, in2)
res = (inl +in2) * (in1—-in2)

check(in1, in2)

diff = diffsq1(in1, in2) —
diffsg2(in1, in2)

mul diffsq1

add diffsg2

> mul
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module (check 0)

input (external) inl[3:0] = range(-8~7)
input (external) inl exp[2:0] = range(—-4~3) N
input (external) in2_[2 :0] = range(0~7) l jj 0) ﬂEIIE
input (external) in2_exp[1:0] = range(0~3)
module (diffsgl 1)

input inl = range (0~0)

input

input in2 = range (0~0)

module (mul 2)

TR DAL FHE
procuer = st (ina s, in2 e A—FIEER(—R)

inZ: in2 man[3:0]

nede: product[7:0] = inl man * in2 man
inl man_abs = abs_ub(inl man)

inl: inl man[3:0]

nede: inl man abs[3:0] = inl man[3] ? -inl man : inl man
in2 man abs = abs_ ub(inZ man)

inl: in2 man[3:0]

node: inZ man abs[3:0] = in2 man([3] ? -inZ man : in2 man
or man = or(inl man abs, inZ man abs)

inl: inl man abs[3:0]

inZ: in2 man abs[3:0]

node: or_man[3:0] = inl man abs | inZ man_abs
enc_man = encode ub (or_man)

inl: or_man[3:0]
module (encode_3)
endmodule (encode 3)
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module check 0
input signed [3:0] inl,
input signed [2:0] inl_ exp,
I input [2:0] inZ,
input [1:0] inZ_exp,
output signed [9:0] diff,
output signed [4:0] diff exp):

wire [7:0] resi;

wire [4:0] res_exp;

diffsgl 1 diffsgl 1(.inl(inl), .inl exp(inl exp), .in2(in2), .in2 exp(in2 exp), .res(resl), .res exp(res exp)):

wire [8:0] res2;

wire [4:0] res_exp;

diffsg2 10 diffsg2 10(.inl(inl), .inl exp(inl exp), .inZ(in2), .in2 exp(inZ_exp), .res(res2), .res exp(res_exp));

sub_18 sub_18(.inl man(resl), .inl exp(res_exp), .in2 man(res2), .in2 exp(res_exp), .out man(diff), .ocut_exp(diff exp)):
endmodule

module diffsgl 1(
input signed [3:0] inl,
input signed [2:0] inl_ exp,
input [2:0] inZ,
input [1:0] in2 exp,
output signed [7:0] res,
output signed [4:0] res_exp):;

wire [7:0] pl;

wire [4:0] pl_exp;

mul 2 mul 2(.inl man(inl), .inl exp(inl exp), .in2 man(inl), .in2 exp(inl exp), .out _man(pl), .ocut_exp(pl_exp)):;
wire [5:0] pZ;
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diffsgl.(res) (inl, in2)
pl mul(inl, inl)
p2 mul(in2, iIn2)
res = sub(pl, p2)

diffsg2.(res) (inl, in2)
sum = add(inl, in2)
diff = sub(inl, in2)
res = mul(sum, diff)

check.(diff) (inl, in2)
resl diffsgl(inl, in2)
res2 diffsg2(inl, in2)
diff = sub(resl, res2)

ADBEEDRTE
inl[3:0] = range(-8~7)
inl_exp[2:0] = range(-4~3)
in2[2:0] = range(0~7)
in2_exp[1:0] = range(0~3)
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module check_0(
input signed [3:0] in1,
input signed [2:0] in1_exp,
input [2:0] in2,
input [1:0] in2_exp,
output signed [9:0] diff,
output signed [4:0] diff_exp);
wire [7:0] res1;
wire [4:0] res_exp;
diffsql_1 diffsql_1(.in1(in1), .in1_exp(inl_exp), .in2(in2), .
in2_exp(in2_exp), .res(res1), .res_exp(res_exp));
wire [8:0] res2;
wire [4:0] res_exp;
diffsq2_10 diffsq2_10(.in1(in1), .in1_exp(in1_exp), .in2(in2), .
in2_exp(in2_exp), .res(res2), .res_exp(res_exp));
sub_18 sub_18(.in1_man(resl), .in1_exp(res_exp), .in2_man(res2),
.in2_exp(res_exp), .out_man(diff), .out_exp(diff_exp));
endmodule

module diffsq1_1(
input signed [3:0] in1,
input signed [2:0] in1_exp,
input [2:0] in2,
input [1:0] in2_exp,
output signed [7:0] res,
output signed [4:0] res_exp);

wire [7:0] p1;

wire [4:0] p1_exp;

mul_2 mul_2(.in1_man(in1), .in1_exp(in1_exp), .in2_man(inl),
.in2_exp(in1_exp), .out_man(p1), .out_exp(pl_exp));

wire [5:0] p2;

wire [3:0] p2_exp;

mul_5 mul_5(.in1_man(in2), .in1_exp(in2_exp), .in2_man(in2),
.in2_exp(in2_exp), .out_man(p2), .out_exp(p2_exp));

sub_8 sub_8(.in1_man(pl), .in1_exp(pl_exp), .in2_man(p2), .
in2_exp(p2_exp), .out_man(res), .out_exp(res_exp));

endmodule

module mul_2(
input signed [3:0] in1_man,
input signed [2:0] in1_exp,
input signed [3:0] in2_man,
input signed [2:0] in2_exp,
output signed [7:0] out_man,
output signed [4:0] out_exp);

wire [1:0] enc_man;
encode_3 encode_3(.dat(or_man), .res(enc_man));
shift_4 shift_4(.dat(product), .cnt(enc_man), .res(out_man));

wire [7:0] product =in1_man * in2_man;
wire [3:0] in1_man_abs = in1_man[3] ? -in1_man : in1_man;
wire [3:0] in2_man_abs = in2_man[3] ? -in2_man : in2_man;
wire [3:0] or_man =inl_man_abs | in2_man_abs;
wire [3:0] sum_exp = inl_exp +in2_exp;
assign out_exp = sum_exp + enc_man;
endmodule
module encode_3(
input [3:0] dat,
output [1:0] res);

wire [1:0] cur2 = |dat[3:2] ? dat[3:2] : dat[1:0];
wire cnt2 = |dat[3:2];
wire curl = cur2[1] ? cur2[1] : cur2[0];
assign res = {cnt2, cur2[1]};
endmodule

module shift_4(
input signed [7:0] dat,
input [1:0] cnt,
output signed [7:0] res);

wire cond0 = cnt[0];

wire [7:01dat 0= co
wire [7:0] aat_0 = con
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wire condl=cnt[1];
assign res = cond1 ? {{2{dat_0[7]}}, dat_0[7:2]}: dat_O;
endmodule

module mul_5(
input [2:0] in1_man,
input [1:0] in1_exp,
input [2:0] in2_man,
input [1:0] in2_exp,
output [5:0] out_man,
output [3:0] out_exp);

wire [1:0] enc_man;
encode_6 encode_6(.dat(or_man), .res(enc_man));
shift_7 shift_7(.dat(product), .cnt(enc_man), .res(out_man));

wire [5:0] product =in1_man * in2_man;

wire [2:0] or_man =inl_man | in2_man;

wire [2:0] sum_exp = inl_exp +in2_exp;

assign out_exp = sum_exp + enc_man;
endmodule

module encode_6(
input [2:0] dat,
output [1:0] res);

wire [1:0] cur2 = dat[2] ? dat[2] : dat[1:0];
wire cnt2 = dat[2];
wire curl = cur2[1] ? cur2[1] : cur2[0];
assign res = {cnt2, cur2[1]};

endmodule

module shift_7(
input [5:0] dat,
input [1:0] cnt,
output [5:0] res);

wire cond0 = cnt[0];

wire [5:0] dat_0 = condO ? {1'h0, dat[5:1]} : dat;

wire condl=cnt[1];

assign res = cond1 ? {2'h0, dat_0[5:2]} : dat_0;
endmodule

module sub_8(
input signed [7:0] in1_man,
input signed [4:0] in1_exp,
input [5:0] in2_man,
input [3:0] in2_exp,
output signed [7:0] out_man,
output signed [4:0] out_exp);

wire [7:0] adj_man1;
shift_9 shift_9(.dat(man1), .cnt(abs_dexp), .res(adj_man1));

wire [5:0] dexp = inl_exp - in2_exp;
wire sgn_dexp = dexp[5];
assign out_exp = sgn_dexp ? inl_exp : in2_exp;
wire [4:0] abs_dexp = dexp[5] ? -dexp : dexp;
wire [7:0] manl = sgn_dexp ? inl_man :in2_man;
wire [7:0] man2 = sgn_dexp ? in2_man : inl_man;
assign out_man = adj_man1l- man2;

endmodule
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module shift_9(
input signed [7:0] dat,
input [4:0] cnt,
output signed [7:0] res);

wire condO = cnt[0];

wire [7:0] dat_0 = cond0 ? {{1{dat[7]}}, dat[7:1]} : dat;

wire condl = cnt[1];

wire [7:0] dat_1 = cond1 ? {{2{dat_0[7]}}, dat_0[7:2]} : dat_0;

wire cond2 = cnt[2];

wire [7:0] dat_2 = cond2 ? {{4{dat_1[7]}}, dat_1[7:4]}: dat_1;

wire cond3 = cnt[3];

wire [7:0] dat_3 = cond3 ? {{8{dat_2[7]}}, dat_2[7:8]}: dat_2;

wire cond4 = cnt[4];

assign res = cond4 ? {{16{dat_3[7]}}, dat_3[7:16]}: dat_3;
endmodule

module diffsq2_10(
input signed [3:0] in1,
input signed [2:0] in1_exp,
input [2:0] in2,
input [1:0] in2_exp,
output signed [8:0] res,
output signed [4:0] res_exp);

wire [4:0] sum;

wire [2:0] sum_exp;

add_11add_11(.in1_man(in1), .in1_exp(in1_exp), .in2_man(in2), .
in2_exp(in2_exp), .out_man(sum), .out_exp(sum_exp));

wire [4:0] diff;

wire [2:0] diff_exp;

sub_13 sub_13(.in1_man(inl), .in1_exp(in1_exp), .in2_man(in2),
.in2_exp(in2_exp), .out_man(diff), .out_exp(diff_exp));

mul 18 mul 18/(in1 manlsum) in1 axnlcum exn) .in2 manldiff)
mul_15mul _150inl_man{sum), .inl_exp(sum_exp), .in2_man(diff),

.in2_exp(diff_exp), .out_man(res), .out_exp(res_exp));
endmodule

module add_11(
input signed [3:0] in1_man,
input signed [2:0] in1_exp,
input [2:0] in2_man,
input [1:0] in2_exp,
output signed [4:0] out_man,
output signed [2:0] out_exp);

wire [3:0] adj_manl;
shift_12 shift_12(.dat(man1), .cnt(abs_dexp), .res(adj_man1));

wire [3:0] dexp = inl_exp - in2_exp;
wire sgn_dexp = dexp[3];
assign out_exp = sgn_dexp ? inl_exp : in2_exp;
wire [2:0] abs_dexp = dexp[3] ? -dexp : dexp;
wire [3:0] man1 = sgn_dexp ? inl_man : in2_man;
wire [3:0] man2 = sgn_dexp ? in2_man : in1_man;
assign out_man = adj_manl+man2;

endmodule

module shift_12(

input signed [3:0] dat,
input [2:0] cnt,
output signed [3:0] res);

wire cond0 = cnt[0];

wire [3:0] dat_0 = condO ? {{1{dat[3]}}, dat[3:1]} : dat;

wire condl=cnt[1];

wire [3:0] dat_1 = cond1 ? {{2{dat_0[3]}}, dat_0[3:2]}: dat_0;
wire cond2 = cnt[2];

assign res = cond2 ? {{4{dat_1[3]}}, dat_1[3:4]}: dat_1;

endmodule

module sub_13(

input signed [3:0] in1_man,
input signed [2:0] in1_exp,
input [2:0] in2_man,

input [1:0] in2_exp,

output signed [4:0] out_man,
output signed [2:0] out_exp);

wire [3:0] adj_man1;

shift_14 shift_14(.dat(man1), .cnt(abs_dexp), .res(adj_man1));

wire [3:0] dexp = inl_exp - in2_exp;
wire sgn_dexp = dexp[3];
assign out_exp = sgn_dexp ? inl_exp : in2_exp;
wire [2:0] abs_dexp = dexp[3] ? -dexp : dexp;
wire [3:0] manl =sgn_dexp ? inl_man :in2_man;
wire [3:0] man2 = sgn_dexp ? in2_man : inl_man;
assign out_man = adj_man1l- man2;

endmodule

module shift_14(
input signed [3:0] dat,
input [2:0] cnt,
output signed [3:0] res);

wire cond0 = cnt[0];

wire [3:0] dat_0 = condO ? {{1{dat[3]}}, dat[3:1]} : dat;

wire condl=cnt[1];

wire [3:0] dat_1 = cond1 ? {{2{dat_0[3]}}, dat_0[3:2]}: dat_0;

wire cond2 = cnt[2];

assign res = cond2 ? {{4{dat_1[3]}}, dat_1[3:4]}: dat_1;
endmodule

module mul_15(
input signed [4:0] in1_man,
input signed [2:0] in1_exp,
input signed [4:0] in2_man,
input signed [2:0] in2_exp,
output signed [8:0] out_man,
output signed [4:0] out_exp);

wire [2:0] enc_man;
encode_16 encode_16(.dat(or_man), .res(enc_man));

shift_17 shift_17(.dat(product), .cnt(enc_man), .res(out_man));

wire [8:0] product =in1_man * in2_man;
wire [4:0] in1_man_abs = in1_man[4] ? -in1_man : in1_man;
wire [3:0] in2_man_abs = in2_man[4] ? -in2_man : in2_man;
wire [4:0] or_man =in1_man_abs | {1'h0, in2_man_abs};
wire [3:0] sum_exp = inl_exp +in2_exp;
assign out_exp = sum_exp + enc_man;

endmodule

module encode_16(

input [4:0] dat,
output [2:0] res);

wire [3:0] curd = dat[4] ? dat[4] : dat[3:0];

wire cnt4 = dat[4];

wire [1:0] cur2 = |cur4[3:2] ? cur4([3:2] : cur4[1:0];
wire [1:0] cnt2 = {cnt4, |curd[3:2]};

wire curl = cur2[1] ? cur2[1] : cur2[0];

assign res = {cnt2, cur2[1]};

endmodule

module shift_17(

input signed [8:0] dat,
input [2:0] cnt,
output signed [8:0] res);

wire cond0 = cnt[0];

wire [8:0] dat_0 = condO ? {{1{dat[8]}}, dat[8:1]}: dat;

wire condl = cnt[1];

wire [8:0] dat_1 = cond1 ? {{2{dat_0[8]}}, dat_0[8:2]}: dat_0;
wire cond2 = cnt[2];

assign res = cond2 ? {{4{dat_1[8]}}, dat_1[8:4]}: dat_1;

endmodule

module sub_18(

input signed [7:0] in1_man,
input signed [4:0] in1_exp,
input signed [8:0] in2_man,
input signed [4:0] in2_exp,
output signed [9:0] out_man,
output signed [4:0] out_exp);

wire [8:0] adj_man1;
shift_19 shift_19(.dat(man1), .cnt(abs_dexp), .res(adj_man1));

wire [5:0] dexp = in1_exp - in2_exp;

wire sgn_dexp = dexp[5];

assign out_exp = sgn_dexp ? inl_exp : in2_exp;
wire [4:0] abs_dexp = dexp[5] ? -dexp : dexp;

wire [8:0] manl = sgn_dexp ?inl_man : in2_man;
wire [8:0] man2 = sgn_dexp ? in2_man : in1_man;
assign out_man = adj_man1 - man2;

endmodule

module shift_19(

input signed [8:0] dat,
input [4:0] cnt,
output signed [8:0] res);

wire cond0 = cnt[0];

wire [8:0] dat_0 = condO ? {{1{dat[8]}}, dat[8:1]}: dat;

wire condl = cnt[1];

wire [8:0] dat_1 = cond1 ? {{2{dat_0[8]}}, dat_0[8:2]}: dat_0;
wire cond2 = cnt[2];

wire [8:0] dat_2 = cond2 ? {{4{dat_1[8]}}, dat_1[8:4]}: dat_1;
wire cond3 = cnt[3];

wire [8:0] dat_3 = cond3 ? {{8{dat_2[8]}}, dat_2[8]}: dat_2;
wire cond4 = cnt[4];

assign res = cond4 ? {{16{dat_3[8]}}, dat_3[8:16]}: dat_3;

endmodule
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input [2:0] cnt,
input clock,
output signed [3:0] res):

wire cond0 = cnt[0]:

wire [3:0] dat 0 = cond0 2 {{1{dat[3]1}}, dat[3:1]1} : dat;
wire condl = cnt[l]:

wire [3:0] dat 1 = condl_ 2 {2'h0O, dat 0 [-1:2]} : dat 0 _ :
wire cond2 = cnt[2];

assign res = cond2__ ? {{4{dat_1[3]}}, dat_1[3:4]} : dat_1;
reg condl ;
reg dat 0 ;
reg dat 0
reg condl ;
reg condZ ;
reg condZ ;
always @ (posedge clock) begin
condl <= condl;
dat_0_ <= dat_0;
dat 0 <= dat 0 ;
condl <= condl ;
cond2 <= condZ;
cond2 <= cond2 ;
endendmodule
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